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Graphics Development — RADAR Plot
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Radar Diagram for Center Performance
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my.radar {— function (score, legends, labels)
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par(mfrow=c(1,1),pty="s")

plot(c(=2.5,2.5),c(=2.5,2.5), type='n', axes=F, xlab="", ylab="")

angle (= (0:60)/60*2%pi

x1 (- cos(angle)

y1 <{- sin(angle)

x2 {— 2%*cos(angle)

y2 {— 2*sin(angle)

lines(x1,y1)

lines(x2,y2)

x (= rep(0,6)

y (-~ rep(0,6)

for (i in 1:nrow(score)) {

for (j in 0:5) {

lines(c(0, x2[j*10+11), c(0, y2[j*10+11))
x[j+1] (= 2%*scoreli,j+11/10*cos(angle[j*10+1])
ylj+1] <= 2*scoreli,j+11/10*sin(angle[j*10+1])
}

points(x, y, pch=18, col=i+1)

lines(x, y, col=i+1, lty=i)

lines(c(x[1],x[6]), c(yl1],yl6]), col=i+1, lty=1)

}

text(x2[1]+0.3, y2[1], labels[1])

text(x2[11]+0.2, y2[11]+0.2, labels[2])

text(x2[21]1-0.2, y2[21]40.2. labels[3])

text(x2[31]1-0.4, y2[31], labels[4])

text(x2[41]-0.2, y2[41]-0.2, labels[5])

text(x2[511+0.2, y2[51]-0.2, labels[6])

title("Radar Diagram for Center Performance")
legend(1.4, 2.7, legends, lty=1:length(legends), col=2:length(legends)+1,
cex=.8)

}

> labels (- c("ASA','AHT','ACR','AAR','OCR",'MCR")

> score{—matrix(c(4,6,3,8,7,9,5,4,8,9,10,7,5,5,7,8,6,7),
nrow=3,byrow=T)

> legends (- c¢('200211','200212",'200301")

> my.radar(score, legends, labels)
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circle (- function (n)

{

par(pty='s")
plot(c(=2.5,2.5),c(=2.5,2.5), type='n', axes=F, xlab="", ylab="")
angle {— (0:n)/n*2%pi
x1 {~ cos(angle)

y1 <~ sin(angle)

x2 {— 2%*cos(angle)
y2 {— 2*sin(angle)
lines(x1,y1)
lines(x2,y2)
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title(paste(paste(paste("Angle is", round(2*pi/n,digit=1))," Pi Radian
\nPoint is"),n))
}

> par(mfrow=c(2,2))
> circle(10)
> circle(20)
> circle(30)
> circle(40)

Angle is 0.6 Pi Radian Angle is 0.3 Pi Radian
Pointis 10 Pointis 20
Angle is 0.2 Pi Radian Angle is 0.2 Pi Radian
Pointis 30 Point is 40
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R Script

# HIFSEE LRI

> plot.new()

> par(mar = rep(0.1, 4))

> plot.window(xlim = c¢(=25, 25), ylim = c(=25, 25), asp = 1)

# DM 9| th7o S ket

> theta = seq(0, length = 12, by = 2 * pi/12)
> x = temp * cos(theta)

>y = temp * sin(theta)

> polygon(x, y, col = "lightgray")

# 12709] 7= @HA)S ™
> segments(0, 0, 20 * cos(theta), 20 * sin(theta), 1ty = "dotted")

%le 1w},

#
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> segments(0, 0, 20 * cos(theta), 20 * sin(theta), 1ty = "dotted")

> phi = seq(3, 360 — 3. length = 72) * (pi/180)

> for (r in c(5, 10, 15)) lines(r * cos(phi), r * sin(phi), 1ty = "dotted")
> lines(20 * cos(phi), 20 * sin(phi))

# 129% Texts =93}
> text(24 * cos(theta), 23 * sin(theta), mon)

# 7|8 TextE =93l

> labs = seq(5, 20, by = 5)
> text(abs, rep(0, length(labs)), labs)
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